



Name: _____

Date: _____ Score: _____

$$(99 \div 9 + \frac{1}{4}) \times \frac{1}{3} =$$

$$\frac{3}{4} - \frac{1}{2}(\frac{1}{5} - \frac{1}{2}) =$$

$$(2 \div 1 + \frac{3}{5}) \times \frac{1}{4} =$$

$$66(\frac{1}{3} - \frac{1}{3}) \div 11 =$$

$$(42 \div 7 + \frac{2}{3}) \times \frac{2}{5} =$$

$$\frac{1}{4} + \frac{1}{6}(\frac{2}{3} + \frac{3}{4}) =$$

$$(9 \div 1 - \frac{1}{4}) \times \frac{1}{4} =$$

$$16(\frac{1}{2} - \frac{1}{3}) \div 4 =$$

$$(\frac{1}{4} - \frac{2}{3}) \times \frac{1}{3} - \frac{1}{4} =$$

$$(44 \div 4 - \frac{1}{2}) \times \frac{2}{3} =$$



Name: _____

Date: _____ Score: _____

$$(99 \div 9 + \frac{1}{4}) \times \frac{1}{3} = \frac{15}{4} = 3\frac{3}{4}$$

$$\frac{3}{4} - \frac{1}{2}(\frac{1}{5} - \frac{1}{2}) = \frac{9}{10}$$

$$(2 \div 1 + \frac{3}{5}) \times \frac{1}{4} = \frac{13}{20}$$

$$66(\frac{1}{3} - \frac{1}{3}) \div 11 = 0$$

$$(42 \div 7 + \frac{2}{3}) \times \frac{2}{5} = \frac{8}{3} = 2\frac{2}{3}$$

$$\frac{1}{4} + \frac{1}{6}(\frac{2}{3} + \frac{3}{4}) = \frac{35}{72}$$

$$(9 \div 1 - \frac{1}{4}) \times \frac{1}{4} = \frac{35}{16} = 2\frac{3}{16}$$

$$16(\frac{1}{2} - \frac{1}{3}) \div 4 = \frac{2}{3}$$

$$(\frac{1}{4} - \frac{2}{3}) \times \frac{1}{3} - \frac{1}{4} = (-\frac{7}{18})$$

$$(44 \div 4 - \frac{1}{2}) \times \frac{2}{3} = 7$$